Examples of Solution to 2nd hand-in exercise - 15th of December 2006

Examples of Solution to 2nd graded exercise

Attached you find the solution of a student to Qla) and Q2) c)ii). His answer to Q1)a) is not what
we expected you to do. However some of you have tried to show the consistency of the given utility
function with the axioms required for a vNM representation. While his solution is not perfect, I think
that if you go this way you should try to argue in a similar way as shown here. In Q2)c)ii) he derives
the offer curve of consumer C for all p and shows that there is a unique general equilibrium price p.
Most of you did not do this rigorously.

I explicitely do not suggest to study from this and it is not necessarily spot-on in every
part of it. I rather posted it since I believe that some of you have difficulties to answer the questions
in an appropriate way and I think you might learn from it what we consider to be a very good way of
answering questions in this course.

1 (¢) Konrad B. Burchardi, LSE 2006
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